Student 1:

e

A'l-__saw-wb St -rhue,,,a_-:e,,,,,r
as  theve weve ra the

Student 2:

Student 3:

Y I TR
| 3 3 .

Zy2% s 00

pd

.

“ 3X3r3+ 3D
. il BrAIRBIxIAR




Student 5:

z(rﬂ!\/o"
X
| | ]
Fd X = 5.
— — T — |2
X %X ¥ % X X %X * QN3
2 ) 2 2 3 3 z 3 =5 27 .
' AL
So he next shpge will be 3 Hmes
vhe number  dhepe n Me currend oae
Sp 21 XD oo vnany v Aroew. *(Ou
¥eep mulhplyirg by =,
{ Y i /
Student 6:
e ry
o .
o (5 7’"\@\ Wt eoon A Lhe
7 3 mﬂ,ﬁﬁam%pﬂﬂ
o+ et ol otag” 5.
#2 ] (4)g\)
2T ls i
”-- [6)?,’])
1’.-
W+
2l
ﬁ-n
"+
le A
T
1
0+ o)
(l,ﬁ)
d S . L T B B B Y




